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I (a) Show the relationship between total revenue, marginal revenue and price elasticity. 5
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(b) Define elasticity of supply. Prove that the elasticity of supply on a straight line

supply curve péssing through the price-axis is gfeater than one. 5
() If the demand function is given by :
@ — 70 10 Px and
supply function is given by
Q.= 200t S0kx

find equilibrium price and quantity. 2
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(a) Prove that two intersecting straight line demand curves have different price

elasticities at the point of intersection. : >

f () From the supply schedule given below find price elasticity of supply for a

movement from :
@ Point A to C

@) C to A and

i V (1) Midwéy Betweep A apd C. i v o g
7 j g/ : Points  Price : Q,
A ol 6 ' 600
Bl 2 | 550
- | & = 450
L | o ' 300 .
. P.TO.



() Calculate Cross

comment on the relationship between the two :

-Price elasticity of demand from the data given below .a‘

n
|

4

: ‘Befoi'e After 1
&
Goéds Price ' .Quantitvy Pl?ice.
Tea (X) 20 40 20
Coffee (Y) >4O 50 60
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(@) = ﬁrﬁ ™ 31136—@ '@f ‘:fT'TT %ﬁf uﬁkw (Cross-price) g TR
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T4 (X)

I (V)
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of a normal good.'

2. | Explain price effect is summation of income effect and substitution effect in case

1.5
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(b) Attempt any three :
Draw indifference curve When o

@ Ope good is ‘bad and the other is good

2.5

(i) ‘Whén both goods are bad
- GiD) When both goods are peffect \siubstitutes‘ - o 25
(iv) When both goods\ are perfect ; compiem‘ehfs e ’ 23

(a)avhasﬁﬁrqﬁﬁammalﬁﬁwﬁqwuwa amsmlaaﬁt
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(a) Ramv’s budget line relating ;co géod X and good Y has intercepts of 40 units
of good X and‘ 20 units of good Y. If price of good X is % ‘S.OO
what is Ram’s income  ? Calculate the pﬁce of good Y and the siope of the

budget Iine. - ‘ , : 7.5

(b) What is the relationship between. the slope of price consumption curve and the

elasticity of demand 2 , ; 7.5
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Section B

(@ug ‘9
3.. (@) A product can be produced by using inputs labour and capital and firm’s output
position indicates MP, = 3, P, = ¥ 1.00, MP, = 6 and Be=3 408 Is
the firm ‘employing cost minimizing combination of input capital and labour ? If
not, what should the firm do ? 7.5

)

Draw the expansion path when producer gets constant returns to scale. Derive

long run total cost curve from this expansion path. 7.5
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(a.)‘ Explain the tb:ee stages of producﬁoﬁ. In which stage of rpro'd'uction w111 a rational
| 1D

producer produce and why ?

(b) How does the producer choose the optimal input combination to minimize cost

subject to a given level of output ? 75,
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(@) From the following cost fgnction,

TC = a + bQ »+v e ‘where a, b and c =0

Find :

TEC, TVC, AFC, AVC, AC idd MC. gy
' P.T.O.
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~(b) Distinguish between : |
.(z') ‘ Acco‘unting" cost and Economic Cost. - : : 25
(i) Explicit cost and Implicit ckostv. . | - | | 2.5
(i) Suhk cost anci Fixe(i cost. | . 25

| . s weH d
TC = a ‘+AbQ + ;Qz aﬁ‘_q?a, b S?R o 0 |
TG Tve, .AFC, AVC, AC 3R MC.
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(@) Exélain relationﬁﬁp' between ééénomies’ of scale and learning curve. What do you

understand by learning curve ? o - a8
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(b)) Explain that long-run marginal cost curve 'is derived from short run marginal cost

“curves but does not envelope them. LTS

(37) enIes  Taeafadl  (Economies of scale) 3R AP 9% (Learning curve)
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(a) If the firms are in short run eqtﬁlibrigm, will the competitive industry as a whole

be in equilibrium in the long run also 2 Discuss using suitable diagrams. 7.5

(b) What is a subsidy ? Explain how the ‘benefit of a subsidy is split between buyers
and sellers in a competitive market. = 7.5
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. (@) How does a price ceiling by the Government affect producer surplus and {
consumer surplus 2 . . : . L7580

(b) If the demand 'cufve is positively sloped, while the supply curve is negatively
sloped, at the point of intersection of the two curvé_s, there would be both
Walrasian unstable equilibrium and Marshallian unstable equilibrium. Explain. ‘7 5
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